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GIẢI TOÁN LỚP 8: ĐÁP ÁN BÀI 24 TRANG 17 SGK TOÁN LỚP 8 

Đề bài 

Giải các phương trình:  

a) ( x² − 2x + 1 ) − 4 = 0  

b) x² − x = − 2x + 2  

c) 4x² + 4x + 1 = x² 

d) x² − 5x + 6 = 0 

Đáp án lời giải 

a) ( x² − 2x + 1 ) − 4 = 0  

⇔ ( x − 1 )² − 4 = 0  

⇔ ( x − 1 − 2 )( x − 1 + 2 ) = 0  

⇔ ( x − 3 )( x + 1 ) = 0 

⇔ x - 3 = 0 hoặc x + 1 = 0  

⇔ x = 3 hoặc x = 1 

Vậy tập hợp nghiệm S = { 3 ; − 1 } .  

b) x² − x = − 2 x + 2  

⇔ x ( x − 1 ) + 2 ( x − 1 ) = 0 

⇔ x - 1 = 0 hoặc x + 2 = 0 

Vậy tập hợp nghiệm S = { 1 ; − 2 } .  

c) 4x² + 4x + 1 = x² 

⇔ ( 2x + 1 ) 2 = x² 

⇔ ( 2x + 1 − x ) ( 2x + 1 + x ) = 0 

⇔ x + 1 = 0 hoặc 3x + 1 = 0 

https://doctailieu.com/toan-lop-8-c669
https://doctailieu.com/toan-lop-8-c669
https://doctailieu.com/lop-8-c236
https://doctailieu.com/giai-bai-24-trang-17-sgk-toan-lop-8


TOÁN LỚP 8 
HỌC TẬP – LỚP 8 

⇔  x = -1 hoặc x =  

Vậy tập hợp nghiệm S = { 1 ;  } 

d). x² − 5x + 6 = 0 

⇔x² − 4x + 4 − x + 2 = 0 

⇔(x² − 4x + 4) − (x − 2) = 0 

⇔(x − 2)²−(x − 2) = 0 

⇔(x − 2)(x − 2 − 1) = 0 

⇔(x − 2)(x − 3) = 0 

⇔ x - 2 = 0 hoặc x - 3 = 0 

⇔ x = 2 hoặc x = 3 

Vậy tập hợp nghiệm S = {2;3}. 
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